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QUESTION 1

When using a Cisco Catalyst 9800 Series Wireless Controller, which statement about AutoQoS is true? 

A. It has a set of predefined profiles that you cannot modify further 

B. It matches traffic and assigns each matched packet to QoS groups 

C. It automates deployment of wired QoS and makes wireless QoS implementation easier 

D. It allows the output policy map to put specific QoS queues into specific subgroups 

Correct Answer: B 

 

QUESTION 2

An engineer is managing a wireless network for a shopping center. The network includes a Cisco WLC, a Cisco MSE,
and a Cisco Prime Infrastructure. What is required to use Cisco CMX Location Analytics? 

A. Enable tracking parameters in Cisco MSE. 

B. Enable Context Aware and CMX Browser Engage. 

C. Install Cisco Prime Infrastructure with floor maps. 

D. Set history parameters in Cisco MSE. 

Correct Answer: C 

https://www.cisco.com/c/en/us/td/docs/wireless/mse/10-6/cmx_config/b_cg_cmx106/getting_started_with_cisco_cmx.ht
ml 

 

QUESTION 3

A wireless network has been implemented to enable multicast video to be streamed reliably over the wireless link to the
wireless users. After a client reports that the video is unable to stream, the administrator determines that the client is
connecting at a data rate of 12 Mbps and is trying to stream to a valid multicast address on the network. Which two
actions must be applied? (Choose two.) 

A. Turn off IGMP snooping for all the configured WLANs on the controller. 

B. Implement video-stream for the multicast video on the controller. 

C. Allow multicast-direct to work correctly and multicast-direct to be enabled globally. 

D. Change the WLAN QoS value to Bronze for the WLAN that multicast will be enabled. 

E. Allow RTSP to stream the video due to wireless multicast not using acknowledgements. 

Correct Answer: BC 
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QUESTION 4

An engineer must send Cisco OEAPs to the homes of employees. The APs must be able to discover and join the WLC
when they connect to each employee home network. Which action accomplishes this task? 

A. Use the WLC name and management IP address to configure the OEAPs. 

B. Use the OEAP management IP address to listen for discovery broadcasts from the WLC. 

C. Use the WLC name and management IP address to configure the DNS server. 

D. Use DHCP Option 43 to configure the WLAN name and management IP address. 

Correct Answer: D 

By configuring DHCP Option 43, the OEAPs will receive the necessary information about the WLAN name and the
management IP address of the WLC. This enables the OEAPs to establish a connection with the WLC and join the
network. 

 

QUESTION 5

An engineer configures Cisco CMX. which uses Layer 2 high availability on primary and secondary CMX instances,
according to these specifications: 

1.

 Primary CMX IP address: 192.168.1.4/24 

2.

 Secondary CMX IP address: 192.168.4.4/24 

3.

 Virtual IP address: 192.168.4.1/24 

During testing, the engineer discovers that the failover fails. Which action resolves the issue? 

A. Place the primary CMX IP address and the virtual IP address in the same subnet. 

B. Place the secondary CMX IP address and the virtual IP address in different subnets. 

C. Use a virtual IP address with CMX Layer 3 high availability. 

D. Place the primary CMX IP address and the secondary CMX IP address in the same subnet. 

Correct Answer: B 
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